
Page no: 64

ANSWER

(i) 71 × 91
(x+1) (y+1) = xy+x+y+1

(70+1) (90+1) = 70 × 90+70+90+1 

= 6300 + 160 + 1 

= 6461
(ii) 42 × 62

(x+2) (y+2) = xy + 2(x+y)+4

(40+2) (60+2) = 40 × 60 + 2 × (40+60) + 4

= 2400 + 200 + 4 

= 2604
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(iii) 10 1
2

× 6 1
2

(x + 1
2

) (y + 1
2

) = xy + 1
2

(x+y) + 1
4

(10 + 1
2

)  ( 6+ 1
2

) = 10 × 6 + 1
2

 (10+6) + 1
4

= 60 + 1
2

 × 16 + 1
4

= 60 + 8 + 1
4

= 68 + 1
4

= 68 1
4

(iv) 9.5 × 3.5

 9.5 × 3.5 = (9 + 0.5) ( 3 +0.5)

= ( 9 + 1
2

)  ( 3 + 1
2

)

= 9 × 3 + 1
2

 (9+3) + 1
4

= 27 + 1
2

× 12 + 1
4

= 27 + 6 + 1
4

= 33 1
4

= 33.25

(v) 10 1
4

× 6 1
4

10 1
4

× 6 1
4

= ( 10 + 1
4

) (6 + 1
4

)

= 10 × 6 + 1
4

(10 + 6) + 1
16

= 60 + 1
4

 × 16 + 1
16

= 60 + 4 + 1
16

= 64 1
16
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ANSWER

Two numbers are x,y

Next numbers to each are (x+1), (y+1)

xy = 1400

x+y = 81

(x+1)(y+1) = xy+x+y+1

The product of next numbers to each are = 1400 + 81 + 1 = 1482

ANSWER

Odd numbers are  x,y

Next odd numbers to each are (x+2)(y+2)

xy =621

x+y=50

(x+2)(y+2)= xy + 2(x+y)+4

= 621+2 × 50+ 4

= 621+100+4 = 725

The product of next odd numbers to each are= 725
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Page no: 66 & 67

ANSWER

(i) A number with a remainder of 1 and a number with a remainder of 2
when divided by 3 ,the remainder after dividing the product by 3 is

(3x+1)(3x+2)  =  9x2 +6x+3x+2

=  9x2 + 9x + 2

=  3(3x2 +3x)+2

∴ Divide by 3 and the remainder is 2

(ii) A number with a remainder of 1 and a number with a remainder of 2
when divided by 4 ,the remainder after dividing the product by 4 is

(4x+1)(4x+2)  =  16x2 +8x+4x+2

= 16x2 +12x + 2

= 4(4x2 +3x)+2

 ∴ Divide by 4 and the remainder is 2
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(iii) Consicutive natural numbers are   x, x+1,x+2, x+3, x+4, x+5

The product of two numbers at the end= x(x+5) = x2 +5x

The product of two numbers in the midle =  (x+2) (x+3)

= x2+3x+2x+6

= x2+5x+6

 ∴ The difference between these = (x2+5x+6) – (x2 +5x) = 6

ANSWER

(i) 43 × 26

4 × 2 = 8 8 × 100 = 800
4 × 6 + 3 × 2 = 30 30 × 10 = 300
3 × 6 = 18           =   18  

= 1118

(ii) One number be (10x+y) and other be (10m+n)

Then their product= (10x+y) (10m+n)

(10x+y) (10m+n) = (10x × 10m) + (10x×n) + (y× 10m) + (y × n)

    =100xm + 10xn + 10ym + yn

    = 100xm + 10 (xn + ym) + yn
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Page no: 73

ANSWER

(i) 
2 3

7 8

2 × 8 =16

7 × 3 = 21

Difference  = 21–16 = 5

 ∴ The difference is the same
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 6  7
11 12

6 × 12 =72

7 × 11 = 77

Difference = 77–72= 5



(ii) 

x x+1

x+5 x+6

 

x(x+6) = x 2 +6x

(x+5)(x+1) = x 2 + x + 5x + 5
  
  = x 2 + 6x + 5

  ∴ Difference = (x 2 +6x+5) – (x 2 +6x) = 5

ANSWER

(i) 
6 8 10

9 12 15

12 16 20

6 + 20   = 26
12 +10  = 22

 ∴ Difference = 26 – 22  = 4
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(ii) 
xy x(y+1) x(y+2)

(x+1)y (x+1)(y+1) (x+1)(y+2)

(x+2)y (x+2)(y+1) (x+2)(y+2)

xy+(x+2)(y+2) = xy+ xy+2x+2y+4
= 2xy+2x+2y+4  --------(1)

x(y+2)+(x+2)y = xy+2x+xy+2y
= 2xy + 2x +2y  --------(2)

(1)– (2) = (2xy+2x+2y+4) – (2xy + 2x +2y) = 4
 ∴ Difference = 4

(iii) 
6 8 10 12

9 12 15 18

12 16 20 24

15 20 25 30

6 + 30 = 36
12 + 15 = 27

 ∴ Difference =36 - 27 = 9

xy x(y+1) x(y+2) x(y+3)

(x+1)y (x+1)(y+1) (x+1)(y+2) (x+1)(y+3)

(x+2)y (x+2)(y+1) (x+2)(y+2) (x+2)(y+3)

(x+3)y (x+3)(y+1) (x+3)(y+2) (x+3)(y+3)

xy+(x+3)(y+3) =  xy+ xy+3x+3y+9  --------(1)

(x+3)y+x(y+3) = xy+3y+xy+3x  --------(2)

(1)– (2) = ( xy+ xy+3x+3y+9) –  ( xy+3y+xy+3x)

 ∴ Difference= 9
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Page no: 80

ANSWER
Perimeter= 2×(l+b) = 40cm

l+b = 40
2

= 20cm

Area= l×b = 70cm2

Area of a rectangle whose each sides 3cm shorter=(l–3)(b–3)

(l-3)(b-3) = (l×b) – 3l – 3b+9

(l-3)(b-3) = (l×b) – 3(l+b)+9

= 70 – 3×20 + 9

= 70 – 60+9 = 19

 ∴ Area of a rectangle whose each sides 3cm shorter= 19cm2
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ANSWER
(i) If the length and width are decreased  by 1m each;

(Length =x, Breadth =y)

(x–1)(y–1) = 741

xy – x – y+1 = 741

xy – x – y = 741 – 1

xy-x-y = 740  ---------(1)

 If the length and width are increased  by 1m each

(x+1)(y+1) = 861

xy+x+y +1 = 861

xy+x+y = 861 – 1

xy+x+y = 860  ---------(2)

Equation (1) + (2)

xy – x – y + xy + x + y  = 740 +860

2xy = 1600

 ∴ xy = 1600
2

= 800m2

(ii) From equation number (2)

xy + x + y = 860

800 + x + y = 860

x+y = 860 - 800 = 60  ---------(3)

 ∴ Perimeter= 2× (x+y)
      = 2 × 60
      = 120m
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(iii)
(x–y)2 =(x+y)2 – 4xy

(x–y)2 = 602 – 4×800

(x – y)2 = 3600 – 3200

(x – y)2 = 400

(x – y)  = √400

x – y = 20  ---------(4)

Equation  (3) + (4)

x+y  = 60 +
          x – y    = 20                      

    2x = 80
      x = 40

Substitute the value x = 40 in equation number  (3) 

40 + y = 60

y = 60 – 40 = 20

 ∴ Length= 40m,  Breadth = 20m
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ANSWER

(i) Numbers x , y

If 1 is added

(x+1) (y+1) = 1271
xy + x+y + 1 = 1271
xy + x+y = 1271-1
xy+x+y = 1270   ---------(1)

If 1 is subtracted

(x–1)(y–1) = 1131
xy – x – y+1 = 1131
xy – x – y = 1131–1
xy – x – y =1130   ---------(2)

Equation  (1) + (2)
xy+x+y+xy – x – y = 1270 + 1130

2xy = 2400

xy = 2400
2

xy = 1200

 ∴ Product of numbers =1200

(ii) From the equation number (1)

xy + x+y = 1270
1200 + x+ y = 1270
x+y = 1270 – 1200
x+y = 70   ---------(3)

 Sum of numbers∴  = 70
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(iii)
(x–y)2= (x+y)2 – 4xy

(x–y)2= 70 2 – 4×1200

(x–y)2= 4900 – 4800

(x–y)2= 100

  x–y  = √100

  x–y   = 10   ---------(4)

Equation  (3) + (4)

x + y= 70 +
          x – y = 10               

2x = 80

x = 80
2

= 40

40+y=70
y=70 – 40 =30

 ∴ Numbers are  40, 30

ANSWER
Odd numbers  x, y 
Two odd numbers just after the odd numbers (x+2) (y+2)
(x+2) (y+2) = 285
xy + 2x + 2y + 4 = 285
xy + 2x + 2y = 285 – 4
xy + 2x + 2y = 281   ---------(1)
Two odd numbers just before the odd numbers (x–2) (y–2)
(x–2) (y–2) = 165
xy – 2x – 2y+4 = 165
xy – 2x – 2y = 165 – 4
xy – 2x – 2y = 161   ---------(2)

GOVIND RAJ.M, HST Maths, GHSS CHERUNNIYOOR, VARKALA



Equation  (1) + (2)

xy + 2x + 2y+xy – 2x – 2y = 281 +161

2xy = 442

xy = 442
2

xy = 221

xy + 2x + 2y = 281

xy + 2(x+y) = 281

221+2(x+y) = 281

2(x+y) = 281-221

2(x+y) = 60

x+y = 60
2

= 30   ---------(3)

(x–y)2 = (x+y)2 – 4xy

(x–y)2 = 302 – 4×221

(x–y)2= 900 – 884

(x–y)2 = 16

  x–y   = 4   ---------(4)

Equation (3) + (4)

x+y = 30 +

          x – y =  4                

2x = 34 

x = 34
2

= 17

17+y=30

y= 30 –17=13

 ∴ Odd numbers are 17, 13
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Page no: 82

ANSWER

Larger number = x , Smaller number = y

x×y= 713

x – y = 8

(i) (x+1)(y–1)= xy–x+y–1

(x+1)(y–1)= xy – (x–y) –1

(x+1)(y–1)= 713 – 8 –1

(x+1)(y–1)= 704

(ii)

(x–1)(y+1)= xy+x–y–1

(x–1)(y+1)= 713+8–1

(x–1)(y+1)= 720
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ANSWER

Larger number = x , Smaller number = y

 xy =(x+1)(y–1) +5

(x+1)(y–1) = xy –5

xy – x+y –1= xy –5

–x+y –1=– 5

–(x–y)–1 = –5

–(x–y) = –5+1

–(x–y) = –4

x–y = 4

Then we find (x–1)(y+1)

(x–1)(y+1) = xy+x–y –1

(x–1)(y+1)= xy+4 –1

(x–1)(y+1)= xy+3

 ∴ 3 is increased with the product of the numbers
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ANSWER
Larger number = x , Smaller number = y

(x+1)(y–1) = 540
xy–x+y–1 = 540
xy–x+y = 540 + 1
xy–x+y= 541   ---------(1)

(x–1)(y+1) = 560
xy+x–y–1 = 560
xy+x–y = 560+1
xy+x–y = 561   ---------(2)

Equation  (1) + (2)

 xy–x+y+ xy+x–y= 541+561

2xy= 1102
xy = 1102

2

xy = 551

(i)  Product of numbers∴ =xy=551

(ii) xy+x–y = 561  
551+x–y = 561
x–y= 561 – 551
x–y = 10   ---------(3)

 ∴ Difference of numbers = x–y=10
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(iii)
(x-y)2 = (x+y)2 – 4xy

10 2 = (x+y)2 – 4 × 551

100 = (x+y)2 – 2204

100 + 2204 = (x–y)2

2304 = (x+y)2

x+y= √2304

x+y = 48   ---------(4)

Equation (3) + (4)

x+y = 48
          x–y  = 10                

2x = 58

x = 58
2

= 29

y = 48 –29= 19

 Numbers are∴  = 29, 19
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ANSWER
Length =x,  Breadth = y , Area=xy

(x+3)(y –2) = xy – 10
xy – 2x+3y–6 = xy – 10
–2x + 3y = –10 + 6
–2x + 3y = –4    ---------(1)

(x–2)(y+3) = xy + 30 
xy+ 3x–2y–6 = xy+ 30 
3x – 2y–6 = 30 
3x – 2y = 30+6
3x – 2y = 36    ---------(2)

(1)×3  –6x+9y= –12    ---------(3)
(2)×2   6x – 4y=72      ---------(4)

Equation  (3) + (4)

–6x+9y = –12 
           6x – 4y = 72                   

         5y= 60

y= 60
5

= 12

6x– 4y = 72 
6x – 4×12=72
6x – 48=72
6x=72+48
6x=120

x= 120
6

=20

x= 20, y = 12

 ∴ Length =20m, Breadth = 12m
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